Assembly Instructions
Instructions d’assemblage

Wi]_liams - Sonoma InC . Instrucciones de Ensamblaje

PotteryBarn— Pottery Barn Teen —Pottery Barn Kids— Williams Sonoma Home— West Elm—Rejuvenation—-Mark and Graham- Green Row

05-Aug-2023 1/2

A WARNING: This product can expose you to chemicals including lead which is known to the state of California to cause cancer

and birth defects or other reproductive harm. For more information, go to: www.P65warnings.ca.gov

AAVERTISSEMENT:Ce produitpeutvous exposer & des produitschimiques, y compris le plomb, qui estreconnu par I'Etat de

Californiecommecausant le cancer et des malformations congénitalesoud'autres troubles de la reproduction. Pour plus d'informations,
visitez: www.P65warnings.ca.gov

AADVERTENCIA: Este productopuedeexponerlo a productosquimicos, incluidoelplomo, que elestado de California sabe que

causancancer y defectos de nacimiento u otrosdafiosreproductivos. Para obtenermésinformacion, visite:www.P65warnings.ca.gov

LYLE Cabinet Knob
Mounting Instructions

__DRAWER

—Lyle Cabinet Knob

o

2550 N.W. Nicolai Street, Portland Oregon 97210 Customer Service: 888 401-1900 rejuvenation.com

© 2020 Williams-Sonoma, Inc. UK - A-NS


http://www.p65warnings.ca.gov/
http://www.p65warnings.ca.gov/
http://www.p65warnings.ca.gov/

Assembly Instructions
Instructions d’assemblage

Wi]_liams - Sonoma InC . Instrucciones de Ensamblaje

PotteryBarn— Pottery Barn Teen —Pottery Barn Kids— Williams Sonoma Home— West Elm—Rejuvenation—-Mark and Graham- Green Row

05-Aug-2023 2/2

PARTS INCLUDED:

1pc Lyle Cabinet Knob
1 pcs Thread 8-32x1.0 inch L Truss Head Machine Screw SS
1 pcs Thread 8-32x1.5 inch L Truss Head Machine Screw SS
1 pcs Thread 8-32x1.75 inch L Truss Head Machine Screw SS
PIECES INCLUSES :
1pc Bouton d'armoire Lyle
1 pcs Filetage 8-32x1.0pouce Vis a métaux a téte bombée SS
1 pcs Filetage 8-32x1.5pouce Vis a métaux a téte bombée SS
1 pcs Filetage 8-32x1.75pouce Vis & métaux a téte bombée SS
PIEZAS INCLUIDAS:
1pc Perilla de gabinete Lyle
1 pcs Rosca 8-32x1.0pulgadas Tornillo de maquina de cabeza segmentada SS
1 pcs Rosca 8-32x1.5pulgadas Tornillo de maquina de cabeza segmentada SS
1 pcs Rosca 8-32x1.75pulgadas Tornillo de maquina de cabeza segmentada SS

TOOLS REQUIRED: Screw driver, Pencil, drill and 3/16 inch [Smm] diameter drill bit.

OUTILS REQUIS: Tournevis, crayon, perceuse et méche de 5 mm de diametre.

HERRAMIENTAS REQUERIDAS: Destornillador, lapiz, taladro y broca de 3/16 de pulgada [5 mm] de diametro.

INSTALLATION INSTRUCTIONS

1. Carefully determine a desired Knob location and use a 3/16 inch [5mm] diameter drill bit to make the hole through the drawer /
door front. Ensure the hole is perpendicular to surface.
Choose the appropriate length screw. You want a minimum of 3/16 inch [5Smm] of the screw sticking out.

3. Use a manual screwdriver to tighten the screw while gently holding the pull. To reduce chance of damging threads, turn the screw

counter clockwise until a “click” is heard and then turning clockwise.

INSTRUCTIONS D'INSTALLATION

1. Déterminez avec soinl'emplacement de traction souhaité et utilisez un foret de 3/16 po [5 mm] de diamétre et
uneperceuseappropriée pour percer le trou a travers la fagade du tiroir/de la porte.Assurez-vous que le trouestperpendiculaire &
la surface.
Choisissez la longueur de vis appropriée. Vousvoulezqu'un minimum de 3/16 inch [Smm] de la vis dépasse.

3. Utilisez un tournevismanuel pour serrer la vis tout en maintenantdoucement la traction. Pour réduire les risquesd'endommager

les filetages, tournez la vis dans le sensantihorairejusqu'acequ’un « clic » se fasse entendre, puistournez dans le senshoraire.

© 2020 Williams-Sonoma, Inc. UK - A-NS



Assembly Instructions
Instructions d’assemblage

Wi]_liams - Sonoma InC . Instrucciones de Ensamblaje

PotteryBarn— Pottery Barn Teen —Pottery Barn Kids— Williams Sonoma Home— West Elm—Rejuvenation—-Mark and Graham- Green Row

05-Aug-2023 3/2

INSTRUCCIONES DE INSTALACION

1. Determine con cuidado la ubicacion de extracciéndeseada y use unabroca de 5 mm [3/16 de pulgada] de diametro y un
taladroapropiado para hacerelorificio a través del frente del cajon/puerta.Asegurese de que elorificio sea perpendicular a la
superficie.
Elijael tornillo de la longitudadecuada. Desea que sobresalga un minimo de 3/16” [Smm] del tornillo.

3. Utilice un destornillador manual para apretarel tornillo mientrassujetasuavementeeltirador. Para reducir la posibilidad de dafiar
las roscas, gireel tornillo en elsentidocontrario a las agujas del reloj hasta que se escuche un "“clic" y luegogire en elsentido de

las agujas del reloj.

CARE INSTRUCTIONS

Wipe with a soft, dry cloth. To protect the finish, do not use household cleaners or abrasives.

INSTRUCTIONS D'ENTRETIEN

Essuyez avec un chiffon doux et sec. Pour protéger la finition, n'utilisez pas de nettoyantsménagersouabrasifs.

INSTRUCCIONES DE CUIDADO

Limpie con un pafio suave y seco. Para protegerelacabado, no use limpiadoresdomésticosniabrasivos.

© 2020 Williams-Sonoma, Inc. UK - A-NS



	TOOLS REQUIRED: Screw driver, Pencil, drill and 3/16 inch [5mm] diameter drill bit.
	OUTILS REQUIS: Tournevis, crayon, perceuse et mèche de 5 mm de diamètre.
	HERRAMIENTAS REQUERIDAS: Destornillador, lápiz, taladro y broca de 3/16 de pulgada [5 mm] de diámetro.
	INSTALLATION INSTRUCTIONS

